The Working Day – Some Examples

1. Ten-hour day in year X
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NL=4; SL=6; RSV = 150%

NL (necessary labor) adds value equivalent to the worker’s average wage for the day; SL (surplus labor) is the source of SV, surplus value, the source from which profit comes. RSV (rate of surplus value, a.k.a. rate of exploitation) = SL/NL (or Surplus Value / day’s wages)
2. Eight-hour day, after establishment of forty-hour week in year X
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NL=4; SL=4; RSV = 100%

3. Eight-hour day in  year X+20
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NL=3; SL=5; RSV = 167%

Labor is more productive (as a result of technological improvements, or greater average skill of labor) or basic consumption goods are cheaper, so smaller wages buy same amount of basic goods
4. Eight-hour day in  year X+100
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NL=1; SL=7; RSV = 700%

Labor is much more productive as a result of technological improvements or basic goods are cheaper.
5. Eight-hour day in  year X+110
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NL=1.5; SL=6.5; RSV = 433 %

Workers have gotten organized into strong unions, launched a labor party that the rank-and-file control, fought for and won higher pay and better benefits; the prominence of the labor party and the workers willingness to fight for basic rights have prevented the use of the state against the workers movement.

6. Ten-hour day in year X+150
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NL=0.5; SL=9.5; RSV = 1900%

Aggressively antilabor party has taken over the state. Labor party and worker-controlled unions are outlawed. Real wages have shrunk but productivity, thanks to continued technological change, has gone up. Workers work longer hours.
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